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Toc}ag, a mother's age is two years more than double

her son's age. ln ten years, the Produc‘c of their ages

will be 2040. [Jow old are theg todag ?
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T he (Quadratic Iormula
. x= 15 }w

= -2,3Y
T he area of this Figure s B9 =7( g,jec'l'
equal to 103.75¢cm’”,

Determine the numerical Q
3:-t+5
1eng’ch of each side .
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f\JQ\/_\ /\—/L—-—\
2x(5x— 3) + (3x+5 7x—1) =103.75
\_/
10x> —6x +21x*> —3x+35x—-5=103.75

31x% +26x —5=103.75
31x2 +26x—108.75=0
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mxn=-3371.25
m+n=26

31x° +26x-108.75=0

The quaciratic formula Provides a solution to any

quac!ratic <second~c§egree> equation.

ax’ +bx+c=0
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B —bi\/b2 —4ac
2a

X

Example: ax2 + bx +c=(

31x" +26x-108.75=0
a b C

_=26+,[26" — 4(31}(~108.75
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bx — 3 =4.5

8x+2=14 Sx—1=6.5

Ix+5H =95

Ix—1=95
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